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Please check whether you have got the right question p
Note: 1) All questions are compulsory.
2) Each question carries 15 marks.
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TOTAL MARKS:60

aper.

3) Draw neat diagram wherever necessary.

4) Figures to the right indicate full

Answer the following Question (Any Two)
Explain the concept of Stocks and Flows Accounting in
economics.

What is the role of Income and Expenditure in Economy?

Discuss the Real and Nominal Income.

Answer the following Question (Any Two)
IS-LM analysis under Fiscal policy.

What is AS-AD model? Explain

Discuss Inflation and Unemployment.

Answer the following Question (Any Two)

Define and explain the concept of Open Economy.
Explain the classical approach of Fixed Exchange Rate.
Write a note on IS-LM-BP model.

Answer the following Question (Any Two)
Explain the concept of the optimal capital stock.
Write a note on the demand for Money.

What is Seignior age?
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